Name:_______________________________________________________________ 



Class:_________________

Learning Target: I can divide a whole number or mixed number by a fraction.
· In order to correctly solve an equation where you divide a whole number or mixed number by a fraction you must make the whole number or mixed number look like a fraction.  Any whole number may be written over the number 1.  Any mixed number must be changed into an improper fraction.

· In order to divide fractions you must remember to keep, change, flip.  That is, you keep the first fraction in the equation as it is.  You change the operation from division to multiplication.  And then flip the second fraction so that the denominator is now the numerator, and the numerator is now the denominator

· Next, follow the steps for multiplying fractions: multiply the numerator by numerator and denominator by denominator

· If your quotient is an improper fraction you must turn it into a mixed number

· Make sure that your fraction is in simplest form.

· When creating a division number sentence from a word problem pay careful attention to the order of the numbers.  The first number should be the number that you are breaking apart.  The second number is the size of the groups, or the number of groups that you are breaking the first number apart into.  THE ORDER MATTERS!

____D____ (1) What is the quotient of 10  ÷ 5/6?
10  ÷ 5/6 = 10/1  ÷ 5/6 =

10/1  x 6/5 = 10 x 6/1 x 5  = 60/5

60/5 = 60 ÷ 5 = 12

(a) 10
(b)  10 1/10
(c)  12 1/2
(d)  12
____B____ (2) Collin has  4 1/8  pounds of burger meat.  It takes  1/2 lb. of meat to make 1 burger.  How many burgers can Collin make? 

4 1/8  ÷ 1/2 = 33/8 ÷ 1/2 =
33/8 x 2/1 = 33 x 2/8 x 1 = 66/8

66/8 = 66 ÷ 8 = 8 2/8  = 8 1/4

(a) 7 burgers
(b) 8 1/4  burgers 
(c) 8/7  burgers
(d) 8 burgers
(1) What is the quotient of  4 1/2 ÷ 3/4?
(2) Amanda has 2 3/4  ounces of skittles.  How many 1/8 ounce bags can she make with her candy? 
3) Alex has 3 1/3  lbs. of apples.  He is going to cut the apples into slices that are each 2/3 of a lb.  How many slices can he cut? 
(4) Regina has 5 1/2  cups of iced tea.  She wants to pour 1/6  cups of iced tea into each cup.  How many cups can she pour?
Show your work:








Answer:_______________________________________________
